Remarks from site on the 'Requisition by Site Report' of purchase division

Company:		GVR			Date:		12 02 2021		
Site: Innopo				Prepared by:		13.03.2021			
		03.2021 To 12.03.2021				Mounika			
Report Date 13.03.2				Approved by:	Approved by:		Venkatesh		
List of requis	sitions nu		missing in the rep	ort*.					
List of requis	sitions w	here PC	D/WO not prepared	d 3 worki	no days a O				
Req No.	Reg	Date	lot preparet	I J WOIKI	ng days after requ				
163277	-	2.2020	1 to 2		n Description	Reason for not preparing PO/WO			
			1 10 2	1 WISLE	Twisted wire brush		Local purchase by raghu		
163372	18.02	2.2021	1	Open	well submersible	Po not issued			
163388	03.03	.2021	1-2	1. Lat 2. Ora	oour helmets inge jackets el lifting hand	Po not issued			
163394	04.03	.2021	1	Safety	goggles	Po not issued			
163397 11.03.2021 1		1	Auto starter		Po not issued				
List of requisi	itions wh	ere PO	/WO is prepared a	nd items	have not been rece	ived at	site beyond th	0 100	d all
163379	20.02	.2021	1-9	Cleanin	g material				
163384	26.02	.2021	1	Gunny		Supplier arranging for material 100 Nos pending		пепа	
163386	36 27.02.2021		1	Flat pipe		Delay by purchase assistant			
163389	03.03	2021	1	Hamme					
163396	10.03	2021	1		portable Labour	Delay by purchase assistant Supplier arranging for material			
163398	11.03	2021	1		itec tanks	Supplier arranging for material			
No. of gate pa	sses issu	ed this	week:	Nil	From No.	Supplier arranging for material Nil To No. Nil		Charles of the second second	
Delivery van site visit on:			5 th to		1 111	TONO		Nil	
Inward report	(MRN/o	ther) &	stock report emai	led in pdf	format to purcha	se?	Yes		
DC register Sl	. No. dui	ing the	week From		2685	30:	To No.		2600
tems not orde					2003		10 No.		2698
	THE RESERVE AND ADDRESS OF THE PARTY OF THE		are pending for re	LY L					
Other correction	ons & rea	narks	PROVE	ран.					
Details	200	1 1	roject Managar	/	Admin OCC A		1	**	
Sign 13 MAR		13 MAR 202	1	Admin Officer/M	anager	Admin Au	Idit,	1	
Date 13.03.2021		3.03.2021nkates	3.03.2021			13.03.202	1		
otoo: 1 # Comd		C 1	G. Veille	nef			13.03.202	1	

Notes: 1. * Send a copy of the missing requirities of purchase immediately. 2. Send this report to purchase@modiproperties.com, ashaiya@modiproperties.com and rajkumarh@modiproperties.com on every Saturday. 3. Admin offices shall not leave the site without completing this report. 4. Ensure that inward numbers are written on the Requisitions, clearly showing the items not received on a daily basis. 5. Mention PO & MRN no. on DCs / bills. 6. Report to be signed by Admin manager & Project manager at site and filed at site. 7. #Suggested remarks – For technical details from site, For negotiations/quotations, Local purchase, For MDs approval/input, 8. \$ Suggested remarks - Ready with supplier, Supplier not contacted, Supplier not reachable, Material in transit, WO - under fabrication, WO - material for fabrication not received, WO - material received fabrication not started, Delivery van delay, Delay by purchase assistant, Supplier arranging for material, 9. Purchase to send reply to this report within one week. 10. Follow up for WO is the responsibility of engineers at site – purchase to write 'NA' in reply to this report. 11. Admin officers/managers must call all suppliers on a daily basis for follow-up – DO NOT CALL PURCHASE!

MODI Properties

Stock List - Till Date: 13-03-2021 Company: G V Reserch Centers Pvt Ltd

Location: Innopolis

Pages: 1 of 2

Category / Item Name	Palausa Ot		Pages: 1 of 2
Carpentry - doors	Balance Qty	Rate	Balance Value
2007 - Carpentry - doors - Flush Door - 30mm - other - sft	7		10,161
2340 - Carpentry - doors - Panel Door 30 mm - 32 ln x 80 ln - Nos	3	75	225
Carpentry - hardware	4	2,484	9,936
2051 - Carpentry - hardware - Binding wire - 20 guage - kgs	96		4,228
2148 - Carpentry - hardware - Plastic gampa - other - nos	93	41	3,808
Cement	204	140	420
3002 - Cement - PPC - 50kgs - bags	384		90,624
Consumables	384	236	90,624
4057 - Consumables - Sponges - NA - nos	100		700
Electrical - conducting	100	7	700
4777 - Electrical - conducting - Junction Box - 25mm - nos	199		2,508
4780 - Electrical - conducting - PVC stripe connector - NA - nos	99	16	1,584
4803 - Electrical - conducting - PVC Round Cover - 3 In - nos	40	13	504
Electrical - other	60	7	420
4585 - Electrical - other - Insulation tape - NA - nos	53		3,105
4603 - Electrical - other - MCB - 10Amps - nos	20	8	160
4605 - Electrical - other - MCB - 6Amps - nos	8	99	792
4631 - Electrical - other - Modular Plate - 6way - nos	10	125	1,250
4632 - Electrical - other - Modular Plate - 8way - nos	9	51	459
Electrical - wires	6	74	444
4695 - Electrical - wires - Copper flat wire - 3core - mtrs	50		0
Miscellaneous	50	0	0
6094 - Miscellaneous - Spacers - Other - nos	5,000		6,500
Paints	5,000	1	6,500
6549 - Paints - White Cement - 25kgs - bags	2		1,200
Stationery - other	2	600	1,200
	25		609
7578 - Stationery - other - Ring Binder - other - nos	I	194	194
7584 - Stationery - other - Scribbling Pads - other - nos 7593 - Stationery - other - Stapler - other - nos	15	15	225
	4	40	160
7594 - Stationery - other - Stapler pin - other - boxes Steel - other	5	6	30
	529		31,767
8014 - Steel - other - MS Flat Patti - other - kgs 8022 - Steel - other - MS L angle - 1 In x3mm - kgs	49	35	1,698
	207	0	0
8106 - Steel - other - Sq. pipe - 50mmx50mm - kgs	38	0	0
8111 - Steel - other - Sq. Rod - 12mm - kgs	108	229	24,693
8225 - Steel - other - Ms Z Angle Templates - 4 ft X 4 ft - Rft Steel - rebar	128	42	5,376
	2,000		63,000
8115 - Steel - rebar - TMT - 12mm - kgs	2,000	32	63,000
Tools 0527 Tools Hedenschlade Jacks	133		5,312
9537 - Tools - Hacksaw blade - double - nos	50	10	500

13-03-2021 13:59:08



	Te	Total Stock Value		
9600 - Tools - mask - NA - Nos	42	11	441	
9593 - Tools - Labour helmet male - NA - Nos	6	50	300	
9591 - Tools - Safety Indication Ribbon - NA - nos	4	460	1,841	
9570 - Tools - Spade with handle - NA - nos	19	90	1,710	
9566 - Tools - Shavels - other - nos	2	0	0	
9545 - Tools - Helmet - other - nos	10	52	520	
Category / Item Name	Balance Qty	Rate	Balance Value	



MODI Properties

Pages: 1 of 1

5,312

219,714

Stock List - Till Date: 13-03-2021 Company: G V Reserch Centers Pvt Ltd

Company: G V Reserch Centers Pvt Ltd
Location: Innopolis

Tools

ocation : innopolis	The state of the s	Date	Dalamaa Valua
Category / Item Name	Balance Qty	Rate	Balance Value
Carpentry - doors	7		10,161
Carpentry - hardware	96		4,228
Cement	384		90,624
Consumables	100		700
Electrical - conducting	199		2,508
Electrical - other	53		3,105
Electrical - wires	50		0
Miscellaneous	5,000		6,500
Paints	2		1,200
Stationery - other	25		609
Steel - other	529		31,767
Steel - rebar	2,000		63,000

133

Total Stock Value...

